CAL 27

1-He-detey -

1-Backstay -

STANDCING RIGGING
HULL NCS. 1-41

5/32" 1 X 12 X 35'c-3/4", llerine eye gnd 5/16" R.E.
gtud,
/32" 1 X 1¢ X 20'C", Marine eye and fork.

2-cackstry bridles

2-Uppers -

2-Lowers -
1-Booem 1ift-

1-feedetey

1-Eacketey
2-Lridle
2-Uppers
2-Lowerse
1-boem 1lift-

1/8" 1 X 10 X 8'8", fork and 1/4" R,H. stud,

5/32" 1 X 1© X 33'8-1/8" , fork and 5/16" R.E,
gtud,

3/16" 1 X 192 X 1€6'4", fork and 3/8" R.H. stud,

1/8" 7 X 19 X 3'6", 3" lcop and W.C, 2490 beet enep.

HULL NOS. 42 and up  Nvar #/45

3/16" 1 X 12 X 35'8-1/4", marine eye and 3/8"

R.H., stud,

3/16" 1 X 1¢ X 2¢' 1", merine eye and fork,

e/32" 1 X 12 X 8'7", fork and /16" R.H, etud.
3/1€" 1 X 12 X 33' €-1/8", fork and 3/8" R,H, stud,
7/32" 1 X 1¢ X 16'5"%, fork end 3/8" R.H. stud,

1/8%" 7 X 16 X 3'6", 3" loop anc W.C. 240 Ytort enep.

RUNNING RIGGING

1-kain halyard - 1/8" 7 X 10 X 32'0" £.5. Thimble and halyard

1rJ1b halyard
oL

shackle,
- §/32" 7 X 19 X 36'3"s,.S. Thimble and esnap ehackle

Helyard tails- 5/16" X 36' dscron yacht breid,

2-Jibsheets
1- Downhaul
1- sincgheet
1= Outhgul

- 3/8" X 45' dacrcn yecht traid.
1/4" X 6' dacrcn yacht breid.
3/8" X 60'dacron yacht breid.
1/8" X 4' dacron yecht breid.

EFINNAKER GEAR

1-tpinngker halyard - 3/8" X 86' decron yecht treid.

2-Spinnaker e

heete - 2/8" X 4¢' decron yacht trald.

1-Tepping 1ift - §/16" X 62'dseron yccht traid.

1-Fcreguy

- 5/16" X 37' decrcn yoccht trasid,

REEFING CEAR

1-Clew pernnant - 5/16" X 24' dacron yascht treid.
1-Tack pernant - /16" X 15' dacron yacht braid.



